
1. The paper consists of five sections :- Physics
(6 Questions), Chemistry (6 Questions),
Biology/Mathematics (6 Questions), and
Mental ability (7 Questions).

2. All questions are compulsory and carry four
marks each. One mark is deducted for wrong
answer.

PHYSICS

CANDIDATE’S NAME : ______________________________________________

DURATION: 60 MINUTES TOTAL QUESTIONS: 25          MAXIMUM MARKS : 100

QUESTION PAPER

3. There is only one correct answer hence mark
one choice only.

4. Darken your choice in OMR Sheet with Blue/
Black Ball Point Pen.

5. Rough work should be in the blank space
provided in the question paper.

6. Return the OMR Sheet to the invigilator at
the end of the exam.

MOVING CLASS 12

Passage # 1 (Ques. 1 to 3)

The x-t graph of a particle moving along a
straight line is shown in figure
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1. The v-t graph of the particle is correctly
shown by
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x| ka' k # 1 (i z' u l a[ ; k 1 l s 3)

l j y  j s[ kk esa xfr  dj  j gs d.k dk x – t oØ fp=kkuql kj  gSA
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1. d.k dk l gh v - t oØ gksxkA
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2. The a-t graph of the particle is correctly
shown by
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3. The speed-time graph of the particle is
correctly shown by
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Passage # 2 (Ques. 4 to 6)
The block of mass m is attached to 2 springs
as shown. In the equilibrium position, the
springs are at their natural length. The mass
oscillates along the line of springs with

amplitude A. At t = 0, mass is at +
2
A

 from

equilibrium and moving to right. The right
spring is removed at that instant, without
changing velocity of block.

 
m 

k k 

Frictionless

4. The new time period of oscillation in terms of
its original period T0 is -

(A) 2T0 (B) 2  T0

(C) 
2

T0 (D) 2
T0

2. d.k dk l gh a - t oØ gksxkA
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3. d.k dk l gh pky&l e;  oØ gksxkA
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x| ka' k # 2 (i z' u l a[ ; k 4 l s 6)
m nzO; eku dh , d oLr q 2 fLi zaxks l s t qMh gqbZ gS] t Sl k fp=k
esa fn[ kk; k x; k gSaA l kE; koLFkk esa fLi zaxsa mudh i zkd f̀r d
yEckbZ esa gSA nzO; eku fLi zaxksa dh ykbZu ds vuqfn' k vk; ke A

l s nkSyu dj r k gSA t = 0 i j ] nzO; eku l kE; koLFkk l s +
2
A

i j  gS vkSj  nkabZ vksj  xfr eku gSA ml  {k.k i j  oLr q ds osx us
fcuk i fj or Zu ds nkabZ fLi zax dks gVk fn; k t kr k gSaA

 
m 

k k 

Frictionless

4. nkSyu dk u; k vkor Zdky bl ds ewy vkor Zdky T0 ds i n
esa gS &

(A) 2T0 (B) 2  T0

(C) 
2

T0 (D) 2
T0
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5. The new amplitude of mass is -

(A) d (B) 
2

d3

(C) 
2

d7
(D) 

2
d3

6. The velocity of the mass when it passes
through  equilibrium is -

(A) 
0T
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0T

A14
 (D) 

0T2
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5. nzO; eku dk u; k i fj ek.k gS &
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2

d3
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2

d7
(D) 

2
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6. nzO; eku dk osx t c ; g l kE; koLFkk l s xqt j r k gS] gksxk &

(A) 
0T

A19
(B) 

0T
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(C) 
0T

A14
(D) 

0T2
A14

CHEMISTRY

Passage # 1 (Ques. 7 to 8)
The properties of the elements (atomic/ionic
radii, electron gain enthalpy, ionization
enthalpy, electronegativity, valency,
oxidising/reducing power, acid/base character,
etc.) which are directly or indirectly related
to their electronic configurations are called
periodic properties. These properties show a
regular gradation on moving from left to right
in a period or from top to bottom in a group.
Down a group, the atomic/ ionic radii, metallic
character and reducing character increases
while ionization enthalpy and
electronegativity decreases. Along a period
from left to right, atomic/ionic radii and
metallic character decreases while ionization
enthalpy, electronegativity, non-metallic
character and oxidising power increases.
However, electron gain enthalpy becomes less
negative down a group but more negative
along a period. In contrast, inert gases have
positive electron gain enthalpies which do
not show any regular trend.

7. Which of the following isoelectronic ions has
the lowest first ionization enthalpy :
(A) K+ (B) Ca2+

(C) Cl¯ (D) S2–

x| ka' k # 1 (i z' u l a[ ; k 7 l s 8)

r Roksa ds xq.k (i j ekf.od@vk; fud f=kT; k] bysDVªkWu xzg.k

, UFksYi h] vk; uu , UFksYi h] fo| qr _ .kr k] l a; kst dr k]

vkWDl hdj .k@vi p; u {ker k] vEy@{kkj  y{k.k vkfn) t ks

fn"V ; k vfn"V : i  l s buds bysDVªkWfud foU; kl  l s

l acaf/kr  gksr s gS] vkor hZ;  xq.k dgykr s gSA ; s xq.k vkor Z es ck; sa

l s nk; sa t kus ; k oxZ esa Åi j  l s uhps t kus i j  Øfed fodkl

n' kkZr s gSA , d oxZ esa uhps t kus i j  i j ekf.od@vk; fud

f=kT; k] /kkfRod y{k.k r Fkk vi p; u y{k.k c<+r k gS t cfd

vk; uu , UFksYi h r Fkk fo| qr _ .kr k ?kVr h gSA , d vkor Z esa

ck; sa l s nk; sa t kus i j  i j ekf.od@vk; fud f=kT; k r Fkk /

kkfRod y{k.k ?kVr s gS t cfd vk; uu ,UFksYi h] fo| qr _ .kr k]

v/kkfRod y{k.k r Fkk vkWDl hdj .k {ker k c<+r h gSA ; | fi  , d

oxZ uhps t kus i j  bysDVªkWu xzg.k , UFksYi h de _ .kkRed

gksr h gS fdUr q , d vkor Z ds l ki s{k vf/kd _ .kkRed gksr h gSA

bl  l anHkZ esa vfØ;  xSl s /kukRed bysDVªkWu xzg.k , UFksYi h

j [ kr h gS t ks fu; fer  i zòfÙk ugh n' kkZr h gSA

7. fuEu es l s dkSul s l ebysDVªkWfud vk; u U; wur e i zFke
vk; uu , UFksYi h j [ kr s gS \
(A) K+ (B) Ca2+

(C) Cl¯ (D) S2–
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8. The outermost electronic configuration of the
most electronegative element is :
(A) ns2 np3 (B) ns2 np4

(C) ns2 np5 (D) ns2 np6

Passage # 2 (Ques. 9 to 10)
The resonance effect is defined as ‘the
polarity produced in the molecule by the
interaction of two -bonds or between a -
bond and lone pair of electrons persent on
an adjacent atom’. The effect is transmitted
through the chain.

9. Which of the following does not show
resonance effect ?
(A) 1, 3-Butadiene
(B) Acrylonitrile
(C) Nitrobenzene
(D) Isopropyl isothiocyanate

10. Which of the following carboxylate ions is
the most stable ?

(A) CH3 C O—

O

(B) CH2Cl C O—

O

(C) CH2F C O—

O

(D) CH
F

F
C O—

O

Passage # 3 (Ques. 11 to 12)
Quantum numbers are assigned to get
complete information of electrons regarding
their energy, angular momentum, spectral
lines etc. Four quantum numbers are known
i.e. principal quantum numbers which tell the
distance of electron from nucleus, energy of
electron in a particular shell and its angular
momentum. Azimuthal quantum number tells
about the subshells in a given shell and of
course shape of orbital. Magnetic quantum
number deals with study of orientations or
degeneracy of a subshell.

8. l okZf/kd fo| qr _ .kh r Ro dk ckg~; r e bysDVªkWfud foU; kl
gksxk &
(A) ns2 np3 (B) ns2 np4

(C) ns2 np5 (D) ns2 np6

x| ka' k # 2 (i z' u l a[ ; k 9 l s 10)
vuqukn i zHkko dks ‘nks i kbZ ca/kks ds e/;  var j fØ; k ; k , d i kbZ

ca/k r Fkk fudVor hZ i j ek.kq i j  fLFkr  , dkdh ; qXe bysDVªkWu

ds e/;  var j fØ; k } kj k v.kq esa mRi kfnr  /kzqo.kr k’ ds : i  esa

i fj Hkkf"kr  fd; k t kr k gSA ; g i zHkko Jà[ kyk } kj k LFkkukar fj r

gksr k gSA

9. fuEu es l s dkSul k vuqukn i zHkko ugh n' kkZr k gS \

(A) 1, 3-C; qVkMkbbZu

(B) , fØyksukbVªkbZy

(C) ukbVªkscsUt hu

(D) vkbl ksi zksfi y  vkbl ksFkk; ksl k; usV

10. fuEu esa l s dkSul k dkcksZfDl ysV vk; u l okZf/kd LFkk; h gS \

(A) CH3 C O—

O

(B) CH2Cl C O—

O

(C) CH2F C O—

O

(D) CH
F

F
C O—

O

x| ka' k # 3 (i z' u l a[ ; k 11 l s 12)
Dok.Ve l a[ ; k, a bysDVªkWu dh i w.kZ l wpuk t Sl s budh Åt kZ]
dks.kh;  l aosx] Li sDVªeh j s[ kk, a vkfn i zkIr  dj us ds fy ,
fu; qDr  dh t kr h gSA pkj  Dok.Ve l a[ ; k, a Kkr  gS vFkkZr ~
eq[ ;  Dok.Ve l a[ ; k, a t ks ukfHkd l s bysDVªkWu dh nwj h] , d
fuf' pr  dks' k esa bysDVªkWu dh Åt kZ r Fkk bl ds dks.kh;  l aosx
dks cr kr h gSA f} ?ka' kh Dok.Ve l a[ ; k, a nh xbZ dks' k esa
mi dks' kks ds ckj s esa r Fkk fuf' pr  gh d{kd dh vkdf̀r  ds ckj s
esa cr kr h gSA pqEcdh;  Dok.Ve l a[ ; k mi dks' kks ds foU; kl  ; k
l eHkza' kr k ds v/; ; u ds ckj s esa cr kr h gSA
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Spin quantum number which defines the spin

of electron designated as +
2
1

 or –
2
1

represented by  and  respectively. Electron
are filled in orbitals following Aufbau rule.
Pauli's exclusion principal and Hund's rule of
maximum multiplicity. On the basis of this
answer the following questions.

11. Two unpaired electrons present in carbon
atom are different with respect to their
(A) Principle quantum number
(B) Azimuthul quantum number
(C) Magnetic quantum number
(D) Spin quantum number

12. Number of  electron having the quantum

numbers n = 4,  = 0, s = 
2
1

  in Zn+2 ion is/

are :
(A) 1 (B) 0
(C) 2 (D) 5

pØ.k Dok.Ve l a[ ; k t ks bysDVªkWu ds pØ.k dks i fj Hkkf"kr

dj r h gS] dks +
2
1

 ; k –
2
1

 ds : i  esa i nfpfUgr  fd; k t kr k

gS r Fkk Øe' k%  r Fkk  ds : i  esa fu: fi r  fd; k t kr k gSA
d{kdks esa Hkj s t kus okys bysDVªkWu vkWQcks ds fu; e] i kÅyh
ds vi ot Zu ds fu; e r Fkk gq.M ds cgqxq.kdr k ds fu; e dk
i kyu dj r s gSA bl  ds vk/kkj  i j  fuEu i z' uks ds mÙkj
nhft ,A

11. dkcZu i j ek.kq esa mi fLFkr  nks v; qfXer  bysDVªkWu fdl es
fHkUur k j [ kr s gS &
(A) eq[ ;  Dok.Ve l a[ ; k, a
(B) f} ?ka' kh Dok.Ve l a[ ; k, a
(C) pqEcdh;  Dok.Ve l a[ ; k, a
(D) pØ.k Dok.Ve l a[ ; k, a

12. Zn+2 vk; u esa Dok.Ve l a[ ; k, a n = 4,  = 0, s

= 
2
1

  okys bysDVªkWuks dh l a[ ; k gS &

(A) 1 (B) 0
(C) 2 (D) 5

BIOLOGY

Passage # 1 (Ques. 13 to 15)
The outermost covering of a seed is the seed
coat. The seed coat has two layers, the outer
testa and the inner tegmen. The hilum is a
scar on the seed coat through which the
developing seeds were attached to the fruit.
Above the hilum is a small pore called the
micropyle. Within the seed coat is the embryo,
consisting of an embryonal axis and two
cotyledons. The cotyledons are often fleshy
and full of reserve food materials. At the two
ends of the embryonal axis are present the
radicle and the plumule . In some seeds such
as castor the endosperm formed as a result of
double fertilisation, is a food storing tissue. In
plants such as bean, gram and pea, the
endosperm is not present in mature seeds and
such seeds are called nonendospermous.
The outer covering of endosperm separates
the embryo by a proteinous layer called
aleurone layer.

x| ka' k # 1 (i z' u l a[ ; k 13 l s 15)

cht  dh ckgj h i j r  dks cht koj .k dgr s gSaA cht koj .k dh nks

l r gsa gksr h gSa& ckgj h dks cht pksy vkSj  Hkhr j h Lr g dks Vsxesu

dgr s gSaA cht  i j  , d {kr  fpUg  dh r j g dk ÅèoZ gksr k gS

ft l ds } kj k cht  Qy l s t qM+k j gr k gSA bl s ukfHkdk dgr s gSaA

i zR; sd cht  esa ukfHkdk ds Åi j  fNnz gksr k gS ft l s cht kaM} kj

dgr s gSaA cht koj .k gVkus ds ckn vki  cht  i =kksa ds chp Hkzw.k

dks ns[ k l dr s gSaA Hkzw.k esa , d Hkwz.kh;  v{k vkSj  nks xwnsnkj  cht

i =k gksr s gSaA cht  i =kksa esa HkksT;  i nkFkZ l afpr  j gr k gSA v{k ds

fupys uqdhys Hkkx dks ewykadqj  r Fkk Åi j h i Ùkhnkj  Hkkx dks

i zkadqj  dgr s gSA Hkzw.ki ks"k Hkkst u l axzg dj us okyk År d gS t ks

f} fu"kspu ds i fj .kkeLo: i  cur s gSaA puk] l se r Fkk eVj  esa

Hkzw.ki ks"k i r yk gksr k gSA bl fy ,  ; s vHkzw.ki ks"kh gSa t cfd vj aM esa

; g xwnsnkj  gksr k gS ¼Hkzw.k i ks"kh gS½A

Hkzw.ki ks"k dh ckgj h fHkfÙk Hkzw.k l s , d i zksVhuh l r g } kj k vyx

gksr h gS ft l s , Y; wj ksu l r g dgr s gSa

A
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Passage # 1 (Ques. 16 to 18)
On the basis of structural modification of the
cells, simple epithelium is further divided into
three types. These are (i) Squamous,
(ii) Cuboidal,(iii) Columnar The squamous
epithelium is made of a single thin layer of
flattened cells with irregular boundaries. They
are found in the walls of blood vessels and air
sacs of lungs and are involved in a functions
like forming a diffusion boundary. The cuboidal
epithelium is composed of a single layer of cube-
like cells. This is commonly found in ducts of
glands and tubular parts of nephrons in kidneys
and its main functions are secretion and
absorption. The epithelium of proximal
convoluted tubule (PCT) of nephron in the
kidney has microvilli. The columnar epithelium
is composed of a single layer of tall and slender
cells. Their nuclei are located at the base. Free
surface may have microvilli. They are found in
the lining of stomach and intestine and help in
secretion and absorption. If the columnar or
cuboidal cells bear cilia on their free surface
they are called ciliated epithelium. Their
function is to move particles or mucus in a
specific direction over the epithelium. They are
mainly present in the inner surface of hollow
organs like bronchioles and fallopian tubes.

16. How many type of simple squamous epithellium
(A) One (B) Two
(C) Three (D) Four

17. Simple cubaidal epithellium tissue found in
(A) Wall of alimentary canal
(B) Wall of heart
(C) Nephrons
(D) Alveoli

x| ka' k # 2 (i z' u l a[ ; k 16 l s 18)

dksf' kdk ds l aj pukRed : i kar j .k ds vk/kkj  i j  l j y  mi dyk
År d r hu i zdkj  ds gS& ' kYdh (squamous) mi dyk]
?kukdkj  (cuboid) mi dyk r Fkk Lar Hkkdkj  (columnar)

' kYdh mi dyk År d ; g , d pi Vh dksf' kdkvksa ds i r ys Lr j
l s cur k gS ft l ds fdukj s vfu; fer  gksr s gSA ; g År d j Dr
okfgdkvksa dh fHkfÙk esa r Fkk QsQM+s ds ok; q dks' k (air sac) esa
i k; k t kr k gS vkSj  ; g fol j .k l hek dk dk; Z dj r h gSA

?kukdkj  mi dyk ; g År d , d Lr j h;  ?ku t Sl h dksf' kdkvksa
l s cuk gksr k gSA ; g l kekU; r % òDdksa esa òDddksa (nephrons)
ds ufydkdkj  Hkkxksa r Fkk xzafFk; ksa dh okfgfu; ksa esa i k; k t kr k gSA
budk eq[ ;  dk; Z L=ko.k vkSj  vo' kks"k.k gSA òDd esa òDddksa dh
l ehi LFk oyf; r  (concoluted) l w{e ufydk dh mi dyk
esa l w{ekadqj  (microvilli) gksr s gSA

Lr Hkkadkj  mi dyk yEch , oa i r yh dksf' kdkvksa ds , d Lr j  dk
cuk gksr k gSA dsUnzd i zk; % dksf' kdk ds vk/kkj h Hkkx esa gksr k gSA
eqDr  l r g i j  i zk;  l w{ekadqj  i k,  t kr s gSaA l w{ekadqj  vek' k; ]
vka=k r Fkk vkUr fj d vkLr j  esa i k,  t kr s gSa vkSj  ; g L=ko.k vkSj
vo' kks"k.k esa l gk; d nsr s gSA ; fn bu Lr Hkkadkj  ; k ?kukdkj
dksf' kdkvksa dh eqDr  l r g i j  i {ekHk gksr s gSa r ks bl s i {ekHkh
(ciliated) mi dyk dgr s gSA budk dk; Z d.kksa vFkok ' ys"ek
dks mi dyk dh l r g i j  , d fuf' pr  fn' kk esa ys t kuk gSA ; g
eq[ ; r % ' ol fudk (broncheol) r Fkk fMacokfguh ufydkvksa
(fallopian tubes) t Sl s [ kks[ kys vaxks dh Hkhr j h l r g esa i k,
t kr s gSA

16. ljy 'kYdh midyk fdrus izdkj ds gksrs gS \
(A) One (B) Two
(C) Three (D) Four

17. l j y  ?kukdkj  mi dyk År d i k; s t kr s gS

(A) vkgkj  uky dh fHkfÙk esa

(B) ân;  dh fHkfÙk esa

(C) òDd

(D) dqfi dkvksa esa

13. Inner layer of seed coat called

(A) testa (B) tegmen

(C) coleoptile (D) All of the above

14. Name of the food steroing tissue

(A) Hilum (B) Microphyle

(C) Endosperm (D) Embryo sac

15. Aleurone layer is formed of

(A) Fatt (B) Protein

(C) Glucose (D) Lipid

13. chtkoj.k dh Hkhrjh lrg dgykrh gS \

(A) chtpksy (B) Vsxesu

(C) izkadqj pksy (D) mijksDr lHkh

14. Hkkst u l axzg dj us okys År d dk uke D; k gS \

(A) ukfHkdk (B) cht kaM} kj

(C) Hkzq.ki ks"k (D) Hkzq.kdks"k

15. , Y; qj ksu l r g cuh gksr h gS \

(A) ol k (B) i zksVhu

(C) Xywdksl (D) fy fi M



18. simple squamous epithellium found in

(A) wall of blood vessels

(B) wall of nephrons

(C) wall of stomach

(D) wall of pancrease

18. l j y  ' kYdh mi dyk i k; h t kr h gS

(A) j Dr  okfgdkvksa dh fHkfÙk esa

(B) usÝksu dh fHkfÙk esa

(C) vek' k;  dh fHkfÙk esa

(D) vXuk' k;  dh fHkfÙk esa

MATHEMATICS

Passage # 1 (Ques. 13 to 15)
The sum of squares of three distinct real
numbers which form an increasing GP is S2

(common ratio is r). If sum of numbers is S,
then

13. If r = 3 then 2 cannot lie in

(A) (1, 2) (B) 1 , 1
3

 
 
 

(C) 1 , 3
3

 
 
 

(D) (1, 3)

14. If 2 = 2, then the value of common ratio r is
greater than
(A) 9 (B) 4
(C) 2 (D)

15. If r = 2, then the value of 2 is 
a
b

 (where a

and b are coprime) then a + b is
(A) 3 (B) 10
(C) 15 (D) 20

Passage # 2 (Ques. 16 to 18)
Given the equations of two sides of a square
as 5x + 12y – 10 = 0, 5x + 12y + 29 = 0. Also
given is a point M(–3, 5) lying on one of  its
sides.
Answer the following questions ( 31 to 33)

16. The number of possible squares must be
(A) zero (B) one (C) two (D) four

17. The area of the square must be
(A) 5 units (B) 7 units
(C) 9 units (D) None of these

18. If the possible equations of the remaining
sides is 12 x – 5y +  = 0 then  cannot be-
(A) 36 (B) 22 (C) 100 (D) 61

x| ka' k # 1 (i z' u l a[ ; k 13 l s 15)
r hu fHkUu&fHkUu okLr fod l a[ ; kvksa ds oxksZ dk ; ksx t ks , d

o/kZeku xq.kksÙkj  Js<+h cukr h gS] S2 gS (l koZuqi kr  r gS) ; fn

l a[ ; kvksa dk ; ksx S gS] r c

13. ; fn r = 3 gS] r c 2 fdl esa fLFkr  ugh gks l dr k gSA

(A) (1, 2) (B) 1 , 1
3

 
 
 

(C) 1 , 3
3

 
 
 

(D) (1, 3)

14. ; fn 2 = 2 gS] r c l koZuqi kr  r dk eku fdl l s cM+k gSA
(A) 9 (B) 4
(C) 2 (D) 3

15. ; fn r = 2 gS] r c 2 dk eku  
a
b

 gS (t gk¡ a r Fkk b

l gvHkkT;  gS½ r c a + b gS&
(A) 3 (B) 10
(C) 15 (D) 20

x| ka' k # 2 (i z' u l a[ ; k 16 l s 18)
, d oxZ dh nks Hkqt kvksa dh l ehdj .ksa 5x+ 12y – 10 = 0,
5x + 12y + 29 = 0 ds : i  esa nh x; h gSA r Fkk ; g Hkh
fn; k x; k gS fd fcUnq M(–3, 5) bl dh Hkqt kvks esa l s , d
i j  fLFkr  gSA fuEu i z' uksa ds mÙkj  nhft ,  &

16. l aHko oxksZ dh l a[ ; k gksuh pkfg,   &
(A) ' kqU; (B) , d (C) nks (D) pkj

17. oxZ dk {ks=kQy gksuk pkfg,  &
(A) 5 bZdkbZ (B) 7 bZdkbZ
(C) 9 bZdkbZ (D) bueas l s dksbZ ugha

18. ; fn ' ks"k Hkqt kvksa dh l aHkao l ehdj .ks 12x – 5y +  = 0
gS] r c  ugha gks l dr k gS -
(A) 36 (B) 22 (C) 100 (D) 61
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MENTAL ABILITY

Comprehension/Passage (Q.19 to 21):
A, B, C, D and E are five friends, who stay in sea
view apartments in Mumbai. They are Doctor,
Advocate, Banker, Engineer and Auditor, but not in
the same order.
(a) ‘A’ plays Cricket but is not an Engineer.
(b) ‘D’ who is an Auditor does not play Hockey.
(c) The Advocate and the Doctor are not

interested in Basketball.
(d) ‘B’ is an expert Golf player but is not an

Advocate.
(e) ‘E’ finds time on Sunday morning to play

Tennis and he is a Banker.
(f) ‘C’ who does not like Golf is neither a Doctor

nor an Advocate.
(g) The Engineer is always the centre forward in

Hockey.
19. Who is a Basketball player?

(A) A (B) C

(C) D (D) B

20. Who is a Doctor?

(A) B (B) D

(C) A (D) E

21. What is the profession of A?

(A) Doctor (B) Advocate

(C) Banker (D) Auditor

Comprehension/Passage (Q.22 to 25) :
A code language has been used to write the words
in capital letters in English in Column I ans Greek
letters in Column II. Greek letters in Column II do
not appear in the same order as letters in Column
I. Decode the language and choose the correct
code for the word given in each question from
amongst the alternatives provided.

ColumnI ColumnII
CLEAR
VIEW
TURN
BUTTER
OILY
WRITE
VOWEL









A, B, C, D o E i kap nksLr  gS] t ks eqEcbZ esa l h O; w (Sea view) ds

dej ks (apartments) esa Bgj s gq, s gSaA os MkDVj ] odhy] cSaddehZ

(Banker) bfUt fu; j ] o ys[ kk i j h{kd (Auditor) gS] ysfdu l eku

Øe esa ugh gSaA

(a) ‘A’ fØdsV [ ksyr k gS ysfdu bfUt fu; j  ugha gSA

(b) ‘D’ t ks ys[ kk i j h{kd (Auditor) gS] gksdh ugha [ ksyr k gSA

(c) odhy vkSj  MkWDVj  ckLdsV cky esa : fp ugha ysr s gSA

(d) ‘B’ , d fui q.k xksYQ f[ kykMh gSa ysfdu odhy ugha gSA

(e) ‘E’ dks j fookj  l qcg Vsful  [ ksyus ds fy ,  l e;  feyr k gSa

vkSj  og , d cSad dehZ (Banker) gSaA

(f) ‘C’ t ks xksYQ dks i l Un ugha dj r k  uk r ksa MkWDVj  gS uk gh

odhy gSA

(g) bfUt fu; j  ges' kk gh gksdh esa e/;  vxzLFk (centre forward)

gSaA

19. ckLdsVcky] f[ kykMh dkSu gSa \

(A) A (B) C

(C) D (D) B

20. MkWDVj  dkSu gS \

(A) B (B) D

(C) A (D) E

21. A dk O; ol k;  D; k gSa \

(A) MkWDVj (B) odhy

(C) cSad dehZ (Banker) (D) ys[ kk i fj {kd (Auditor)

, d  l adsr  fy fi  (Code language) dks Lr EHk-II ds fxzd v{kj

o  Lr EHk-I ds vxzst h ds cMsa v{kj  fy [ kus esa i z; qDr  dh xbZ gSA

Lr EHk-II esa fxzd v{kj ] Lr EHk-I esa v{kj ksa ds] l eku Øe esa i zfr r

ugha gksr s gSA fy fi  dh dwV O; k[ ; k  (Decode) dj s r Fkk fn; s x; s

fodYi ksa esa l s i zR; sd i z' u esa fn; s x; s ' kCn ds fy ,  l gh l adsr

(code) dk p; u dj s

I II
CLEAR
VIEW
TURN
BUTTER
OILY
WRITE
VOWEL









Lr EHk Lr EHk
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22. LIVER
(A)  (B) 

(C)  (D) 
23. TROUBLE

(A)  (B) 

(C)  (D) 
24. BROWN

(A)  (B) 

(C)  (D) 
25. CYCLE

(A)  (B) 

(C)  (D) 

22. LIVER
(A)  (B) 

(C)  (D) 
23. TROUBLE

(A)  (B) 

(C)  (D) 
24. BROWN

(A)  (B) 

(C)  (D) 
25. CYCLE

(A)  (B) 

(C)  (D) 
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